
   

 

 Page 1  

 

 

Installation Instructions 

6021 – Rear Under Seat Tray for Syncro 

 

• Component/Subassembly Item List:  

Part Number:  QTY:  Description: 

6021 1 14Ga Aluminum Tray + Heater Access Plate 
8381 1 Hardware Kit 

 

• Hardware Kit Contents: 

Part Number: QTY: Description: 
518 6 #8 Truss Head Screws 
662 1 M6 Plastic Thumb Screw 
634 1 M6 Wave Washer 

8479 1 Round M6 Push Nut Retainer 

 

• Required Tools: 
Screw Driver   

Tape Measure   
 
 
 
 
 
 
 
 
 
 
 
 
 

  
 
 
 
 
 



   

 

 Page 2  

 

Installation:  

Step 1: First, open your rear seat base and lock it using the lever on the passenger side so it 

can’t suddenly come smashing down onto your ‘hot dog digits’.   

 

                                                         
                                               

Step 2: Next, drop in the tray and measure 4” down from the passenger side edge of the seat 

base to the top edge of the tray. Do this on the front and back to ensure it’s at the same height.    

 

                                                           



   

 

 Page 3  

 

Step 3: With the tray at the correct height and pulled tight to the front panel and passenger 

side of the seat base, install one of the provided truss-head screws in the front hole by using a 

#2 Philips head screwdriver (Do not use a drill!).   

 

 

                                   
 

Step 4: Measure the rear again to make sure it’s still 4” to the tray edge and install another 

screw in the rear hole to secure it in place. You can also now install the passenger side center 

screw as well.   

 

 

                          

                                   



   

 

 Page 4  

 

Step 5: Now move to the driver’s side of the tray, and simply flush it up to the top face of the 

inner wood panel of the heater cover as shown below. Install a screw to secure it in place and 

repeat the process in the rear followed by the middle screw. 

  

 

                                              

                             



   

 

 Page 5  

 

 

That’s it! You’re done!  

          
 

Note: This Tray includes an access panel that allows you to still be able to turn on or off the 

coolant control valve for the factory rear heater (not shown on these instructions). To remove 

the panel, simply unscrew the thumbscrew and remove the panel. Installation is the opposite of 

removal.  

Thank you for purchasing your Accessories from Van Cafe and we hope you enjoy your journey! 

Cheers,  

The Van Cafe Team. 

 

Disclaimer:  

The end-user of this product assumes all responsibility for the use or misuse of this product. 

Neither Van Cafe nor Rocky Mountain Westy shall be held liable for any damage to person or 

property.   

 

 



   

 

 Page 6  

 

 


